EARAROBREBRT —5 XN—ZXBISH—F

2022658198 (R) SHIEH2H

Ed:#sAB v5%3%

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1000 =

[AE%] 17%&:1,300,000  ~ 23%&:520,000 ™  37%&:325,000 "  43&:195,000 @ . 5 3&:130,000 &

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
° HcpZ : -1-1- - WHESE (FkR)
11111 1s— 4 3 B 1.(3_1).5 1-1-1-1 | 40.4 1 (4_629) ﬁ.ﬁ) bR L.
REVANY N B:STAI oS BREM KEXF—TI
AR : -6-6- - ERER3L (E/)
208l 8| RZALTIL 3 3 . iy 1.(362).5 5-6-6-5 | 40.6 3 (4+721) e
RiFLSIAIY §:RI—FTF7IUA RIS
o~ $1) — %3 | EEm 1:32.7 4433 | M3 - | 2 | 44 |RRRF @@
317]7 /I’T./HQVJDZJ- ? N 54.0 a1/2 47) |FRT_
R T7709— B:HYYFaI9H-)L SH =8B
NS 3y 4 3 | TFhEth 1:33.1 2-2-2-2 | 41.9| - 7 | 450 |¥AFOHE (FEE)
45| NIVANUE 5.0 2172 W) | @) e-70vIon
RiEvI7—H— B:F4c/ FIAFYRIT7—L
S5F71—HI5 3| IR 1(:13/32.)2 7-7-7-7 |41.2| - | 5 | 418 ﬁ;ﬁ;ﬁ;ﬂﬁ (=)
R:IALINS Ry IR BINSIYRN—=N— (-8) EE @S AR
o BT : = s (@
S UF h—L 4 3 gé%ﬁﬁ 1(733t)3 8-8-8-8 | 41.1 8 (4_619) ?ﬁé‘ﬁfm (i)
RidrrEYRX B:eYUAKRD &M JIE—
S~ = - =t . 34~ _
TAYYTAHAY 4 3 gJ%E (12313/27) 3-3-4-4 | 42.2 4 (4362) ;ﬁﬁ;ﬂ% (Gidl:)
RI—-YVI—-54Y H§:3aRU RERIS
=-~ = 2 -5-4- - IRR (B
FS Uk 3 E‘ﬁ 1.(3(;4).6 6-5-4-5 | 42.9 6 (4336) 1%%?\ (Em)
Ri/ITTURN BRYYF BRI 7—LA
@ 11— —BBIEfI
13—7— 1,5,3,7,8,4,2,6
20—F— 1,5,3,7,4,8,2,6
30—7— 1,5.7,(3,4),8,2,6
43— — 1,5,7,3,(4,8),2,6
o ILRE
B B 1 140M JA R 1-8 170M 5= 1-8 310H 3EE 1-7-8 310M
7B B 1 100 1-7 150M =51 1-8 460 3EH 1-8-7 1,000MH
8 110M4 7-8 260/
7 100/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




